November 9 Group Meeting
Understanding the Energy
Resolution



Status Update

e Analysis of run data on hold
e Full effort is being applied to MC
IN Progress:

* |Including the FCAL and BCAL trig requirements
into simulation

e Adding to my list of histograms the fractional
variation: (thrown - fit)/thrown
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Something weird with root? (No)
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Done by hand

MissingMassSquaredMeasuredROOTWay

63586
1174
0.9652

MissingMassSquaredMeasured :
Entries 63586 B Entries
Mean 1.174 - Mean
StdDev  (0.9652 250~ Std Dev
200
150/ —
100/—
50—
| | | | 1 | | O B | | | | | | | | | l | | | | ‘ | | | | | |
4 5 -1 0 1 2 4

Missing Mass Squared (GeV/cy?

VS Using .M2()

5

Missing Mass Squared (GeV/c??




60000

50000

40000

30000

20000

10000

&

60000

50000

40000

30000

20000

10000

%o

Something weird with Measured Beam Energy? (No)
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Where could we be going wrong?
(q7+'rrzp—pﬂ+—pﬂ_)2 :k.’zzm‘;

(@y +mp)* + 01+ 15 = p1- (@ +myp) = p2- (g +mp) + 201 -pa =k,

A

p1- (¢, +m)=FEm+EFE, —p;-E2 Ip1|E, cos b,

p1-p2= LBy —p1-p2= LBy — |P1Hp2| oS O rn \P1HP2\ oS O rn

(And while we’re at it, let’s look at momenta in general)
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Angles look good...




What about 3-Momentum?
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-

what about Energies?
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